A Resource for Semiconductor Manufacturers

No Vaporizer - Source for
Varian 80XP, 160XP, and 180XP Implanters

* Glemco offers improvements, modifications, or alternatives to standard OEM replacement components as indicated in red throughout this guide.

PO Box 217 Leander, TX USA 78646-0217 « 800-621-9598 +« sales@glemco.com ¢ www.glemco.com
1



A Resource for Semiconductor Manufacturers

Source (no vaporizer) for Varian 80XP, 160XP, and180XP Implanters
P/N 55300 / OEM 105861001

B
S |

|| *-k._\-.l |

q ~

1

I

ltem P/N Description OEM QTY

1 51037 Hairpin Clip, Tantalum A 1200 9192 2
2 | 52002 Arc Chamber Top Plate, Molybdenum C101480001 1
3 52003 Arc Chamber Retaining Stud, Molybdenum EGHVIT6192 2
4 | 52004 Insulator Insert, Molybdenum H5114001 2
5 52005 Filament, Tungsten 5399001 1
6 52057 Arc Chamber Top Plate Aperture, Molybdenum No Reference 1
7 55001 Arc Chamber Assembly BH5108001 1
8 55002 Ceramic Filament Insulator H5109001 2
9 55011 Filament Connector Rod B-F9746001 2
10 55023 Filament Clamp B-F9745001 2
11 | 55043 Shield, Graphite H5996001 2
12 | 82299 Nut, 10-32 Hex, 18-8 SST 55053-0001-0101 4
13 | 82436 10-32 x 5/8 SHCS 18-8 SST E47000049 4
14 82631 8-32 X 3/8” Button Head Socket Screw, SST 4400183 4

* Glemco offers improvements, modifications, or alternatives to standard OEM replacement components as indicated in red throughout this guide.

PO Box 217 Leander, TX USA 78646-0217 « 800-621-9598 +« sales@glemco.com ¢ www.glemco.com
2



A Resource for Semiconductor Manufacturers

No Vaporizer - Source for Varian 80XP, 160XP, and 180XP Implanters
P/N 55300 / OEM 105861001

Item P/N Description OEM QTY
1 52007 Arc Chamber Nut, Graphite No Reference 2
2 | 55008 Gas Feed Tube, Vacuum B-F7271001 1
3 | 55019 Clamp Plate B-F7268001 1
4 | 55024 U Bolt B-F7267001 1
5 | 55047 Gas Feed Tube H5058001 1
6 55048 Support Bracket H5057001 1
7 | 82298 Nut, 8-32 Hex, 18-8 SST 1312200800 2
8 | 82440 SHCS 10-32 X 1/2” SST 4400054 2
9 82530 Fitting, Union, 1/8”, 316 SST No Reference 1
10 | 83690 1/8 Male UTRA-TORR 1/8 NPT Connector, “Bored Through” No Reference 1

* Glemco offers improvements, modifications, or alternatives to standard OEM replacement components as indicated in red throughout this guide.

PO Box 217 Leander, TX USA 78646-0217 « 800-621-9598 +« sales@glemco.com ¢ www.glemco.com
3



A Resource for Semiconductor Manufacturers

No Vaporizer - Source for Varian 80XP, 160XP, and 180XP Implanters
P/N 55300 / OEM 105861001

Item P/N Description OEM QTY
1 55009 Filament Feed Rod C-F6609001 2
2 | 55014 Silver Strap Set 07192001 1
3 | 55017 Handle B-1200-8506 1
4 55025 Source Handle Knob A12008394 1
5 55042 Handle Standoff No Reference 3
6 55046 Feed-Thru Insulator 04944001 2
7 82197 Set Screw 1/4-20x3/4 Alloy Steel No Reference 3
8 | 82411 SHCS 6-32 X 3/8” SST E47000017 6
9 | 82421 6-32 x 3/4 SHCS 18-8 SST E47000020 6
10 82427 SHCS 8-32 X 1/4 SST No Reference 8
11 | 82445 1/4-20 X 3/4”, Socket Head Cap Screw, SST 4400017 3
12 | 82503 Male Connector 1/8” P-NPT No Reference 2
13 | 82610 1/4” Regular Spring Washer, SST E48000012 3
14 | 83682 Fitting, 1/8” Plug No Reference 2

* Glemco offers improvements, modifications, or alternatives to standard OEM replacement components as indicated in red throughout this guide.

PO Box 217 Leander, TX USA 78646-0217 « 800-621-9598 +« sales@glemco.com ¢ www.glemco.com
4



A Resource for Semiconductor Manufacturers

No Vaporizer - Source for Varian 80XP, 160XP, and 180XP Implanters
P/N 55300 / OEM 105861001

ltem P/N Description OEM QTY
1 55012 Seal Bushing B12004945 2
2 | 55013 Collar, 1/2” ID 255-3055 2
3 | 55022 Plate Insert With O-Ring F4272001 1
4 55035 Back Plate, Aluminum H5124001 1
5 | 55045 Source Body 105544001 1
6 | 82474 No. 8 Flat Washer, Standard, 18-8 SST 4400498 4
7 | 82481 No. 10 Washer, 0.202 1D, 0.625 OD0.060 Thick, SS 316 No Reference 4
8 | 82639 BHSS 10-32 X 1/4” SST E47000056 4
9 82736 VSHCS 8-32 X 1/2” Stainless, Vented No Reference 4
10 | 83050 O-ring -150, Buna-N, No Reference 1
11 | 83106 O-Ring, -206, Buna-N No Reference 2

* Glemco offers improvements, modifications, or alternatives to standard OEM replacement components as indicated in red throughout this guide.

PO Box 217 Leander, TX USA 78646-0217 « 800-621-9598 e« sales@glemco.com ¢ www.glemco.com
5



